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Q18.   A radio active nucleus ‘A’ undergoes a series of decays according to the following scheme: 

 
The mass number and atomic number of A are 180 and 72 respectively. What are these numbers for A4? 

Answer : We know that  alpha particle when emits atomic mass decreased by 4 unit and atomic number 
decreased by  2 unit, while Beta  emission increases atomic number but does not bring any changes to mass. 

Gama emission does not bring any changes neither in atomic mass nor in atomic number. 

Alfpha = doubly ionized helium, Beta = electon , Gama = Electro Magnetic wave. 

                        α ൌ Heଶ
ସ                      β ൌ eିଵ 

଴                   α ൌ Heଶ
ସ                         γ                                     

         A଻ଶ
ଵ଼଴                              Aଵ଻଴ 

ଵ଻଺                           Aଶ଻ଵ 
ଵ଻଺                          Aଷ଺ଽ 

ଵ଻ଶ                         Aସ଺ଽ 
ଵ଻ଶ  

 
׵ The mass number of Aସ ൌ 172  
and the atomic number of Aସ ൌ 69  
 
Q19.    A thin conducting spherical shell of radius R has charge Q spread uniformly over its surface. Using Gauss’s 
law, derive an expression for an electric field at a point outside the shell.  

Draw a graph of electric field E(r) with distance r from the centre of the shell for 0 ൑ ݎ ൑ ∞ .  
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Graphical Presentation: The variation of the electric field intensity E(r) with distance r from the centre for shell 
0 ൑ ݎ ൑ ∞ is shown below: 
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Q20.   Three identical capacitors C1, C2 and C3 of capacitance 6 µF  each are connected to a 12 V battery as 
shown.                                                  

 

Find 

(i) Charge on each capacitor 
(ii) Equivalent capacitance of the network 
(iii) Energy stored in the network of capacitors 

Ans.   

(i) Here V  ൌ  12 V and Cଵ ൌ Cଶ ൌ Cଷ ൌ 6µF ൌ 6 ൈ 10ି଺F   
Charge on capacitor C3 is  
qଷ ൌ CଷV ൌ 6 ൈ 10ି଺ ൈ 12 ൌ 72 ൈ 10ି଺  
ൌ 72 µC  
Since capacitor C1 and C3 are in series 

׵ Equivanet capacitance  ଵ
CS
ൌ ଵ

Cభ
൅ ଵ

Cమ
  

ଵ
CS
ൌ ଵ

଺
൅ ଵ

଺
ൌ ଶ

଺
ൌ ଵ

ଷ
                      

׵  CS ൌ 3 µF      
Charge on capacitor C1 and C2 is  
q ൌ CS V ൌ 3 ൈ 10ି଺ ൈ 12 ൌ 36 ൈ 10ି଺ ൌ 36 µC  
׵ Charge on each capacitor Cଵ and Cଶ is 36 µC  

(ii) Since capacitor C1 and C3 are in series 
׵ Equivalent capacitance CS ൌ 3 µF        
  Now C3 and CS are in parallel 
׵   Equivalent capacitance C ൌ Cଷ ൅ CS 
ൌ 6 ൅ 3 ൌ 9 µF   

(iii) Energy stored  

ൌ ଵ
ଶ
CVଶ  

ൌ ଵ
ଶ
 ൈ 9 ൈ 10ି଺ ൈ ሺ12ሻଶ  

ൌ ଵ
ଶ
ൈ 9 ൈ 10ି଺ ൈ 144 ൌ 648 ൈ 10ି଺  

ൌ 6.48 ൈ 10ିସ J  


